°] sin30° & W, &= a

0 °f &

#2?

@)5 ® 6

® 2

shel

o|EZ x Zrol tid

1+a-6=0

a =5 °|t}.




oS 9T} 2o 4x — 3y 4+ 12 = 0 ©] Z18)
oA 3tana + 4tanb & G227

® 5 @ 6 O
@ 8 ® 10

B

4x-3y+12=0
y=0¢% o, A(-3, 0)
x=0 < o, B0, 4)

4 3
S tana = g,tanb =7 ojlm g

4 3
3tana+4tanb:3x§+4><1=4+3=7°]‘:]'.




cos(2x+40°):% A off, tan6x 2] FH2? (T, 0° < x < 90°)
V3 V3
oy oF o1 @b 03

1
cos 60° = 3 OB 2x +40° = 60° , x = 10° ©|T}.
s tan60° = V3




thg 17 2 AAZH ABCD Ol A
A cos x 9] gk= Fotoiet. \

>
> HEh: cosx:%1

ol W), AD = V152 — 92 = 120]B&
AD 12 4
=— =-9|t}.

COSX:AZC_E 5

x+y=90° /DAC+y=90°°|2& /DAC = xO]|t}.




5.

ola

cos(2x —30°) =
0°<x<90°)

©O° @30° ® 45° @ 60°
B

® 90°

cos(2x - 30°) = \/75 = cos30° = cos(—30°)

2x-30°=30°, 2x-30°=-30°
Sx=30°0°




